Downstream-Kanale

Empf. Lock
Kana Kanalty Frequen Modulation Signalstarke SNR/ME Staty
1D p z (MHz) (dBmV/dBu R (dB)
V)

gam256/gam1024/qam2048/gam4

193 OFDM 151-~324 3.6/63.6 42.9 JA

096
11 ¢ 666 256 QAM 9.0/69 41.6 JA
QAM
1 (S;XM 114 256 QAM 140614 413 JA
2 gi'M 130 256 QAM 16/616 415  JA
3 gi_m 138 256 QAM 18618 418  JA
4 gi'M 146 256 QAM 126612 412 JA
5 gi_m 602 256 QAM 86/68.6 419  JA
6 gi'M 618 256 QAM 88688 419  JA
7 (S?(XM 626 256 QAM 86/68.6 419  JA
8 gi'M 642 256 QAM 88688 418  JA
9 (S?CXM 650 256 QAM 02/692 420  JA
10 %(XM 658 256 QAM 84/68.4 418  JA
12 (S?CXM 674 256 QAM 0.1/69.1 414  JA
13 %(XM 682 256 QAM 89/68.9 417  JA
14 (S?CXM 690 256 QAM 80/689 417  JA
17 %(XM 698 64 QAM 36/63.6 361  JA
18 ZCA'M 706 64 QAM 34/634 361  JA
19 gi'M 714 64QAM 34/634 359  JA
20 ZCA'M 722 64 QAM 36/63.6 358  JA
21 SC 730 64QAM 206629 356  JA

QAM



Empf.

Signalstirke SNR/ME -0%K

Kana Kanalty Frequen

IID  p  z(MH2) Modulation dBmV/dBu R (dB) U
V)

22 SC- 738 64 QAM 2.2162.2 35.5 JA
QAM ' ' '
SC-

23 OAM 746 64 QAM 3.3/63.3 35.9 JA
SC-

24 QAM 754 64 QAM 3.5/63.5 35.8 JA
SC-

25 OAM 762 64 QAM 3.2/63.2 35.7 JA
SC-

26 0AM 770 64 QAM 4.4/64.4 36.2 JA
SC-

27 OAM 778 64 QAM 3.5/63.5 35.9 JA
SC-

28 QAM 786 64 QAM 3.6/63.6 36.0 JA
SC-

29 OAM 794 64 QAM 3.8/63.8 36.1 JA
SC-

30 QAM 802 64 QAM 4.3/64.3 36.3 JA
SC-

31 OAM 810 64 QAM 3.0/63 36.0 JA
SC-

32 OAM 818 64 QAM 4.6/64.6 36.1 JA
SC-

33 OAM 826 64 QAM 4.6/64.6 35.8 JA
SC-

34 0AM 834 64 QAM 4.8/64.8 36.0 JA

Upstream-Kanaéle

Kanal Frequenz , Send. Signalstarke Ranging
o Kanaltyp 0y Modulation (dBmV/dBpV) Status

9 SC-QAM 58.6 gam64 48.0/108 Erfolgreich

10 SC-QAM 52.2 gam64 47.8/107.8 Erfolgreich

11 SC-QAM 45.8 gamo64 47.8/107.8 Erfolgreich

12 SC-QAM 63.4 gamo64 45.0/105 Erfolgreich
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